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- On April 26, 1986, fires and explosmns followxng

F|Il in the blanks, with appropriate articles :

unauthorized - experiment caused - worst accident in
history of nuclear power. Atleast thirty-one people were

killed in ——— disaster, |tsetf and approx1mately 1,35,000 people
were evaluated from - vicinity. i Ly

Fill in the blanks with suitable p_repos‘itions .

The music coming —— outside had been in tune with his mood.
He got up and looked — the window —— the groove
of trees, a Risok{could De seen. It was the puny man —— — the
counter who was listening FM Gold. o - 5

Il Insert adjectives’ladverbs-given. in the brackets in the appropriate order :

1. Rose has a quality. (Red, Lmiqué)

2. The r_eporté on global warming confirm our fears. (latest, worst)

3. She sang in the concert yesterday. (Melodiously)

4. They went into the room. (straight)

5. The com'mittee'has. been informed about the incidence. (already).
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‘_Twenty thousand rupees are a meagr'e‘salary.

Correct the following sentences . |
Aditya and me are going to the market.

He spoke like I did.

| quite approve of ydu going abfoad.

The patient is being attended on by the nurse.

Fill in the blanks with suitable words giveh in braCkets- =

- our repeated reminders, we have not received the payment. :

' (Insptte of / despite of)

When even in doubt, it is common to seek — from others.
(an advice/ some advice) | e

.Once the trial was over, there was O ‘_ —— doubt in _our"mind that the

accused was actually guilty of the crimex
(little / a little) OV

~ Have you seen him ————=-7

(present!y lrecently)

‘ he is fequired in connectlon with some theft case that took place a

. couple of months back

(Actually / Eventually). - 5.

Compiéte the following :

No sooner did the train stop -

Hardly had | entered the room -

Thoughrhe pretends to be against hypocrisy,
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Give up smoking or

N saw her while

| ordeted a manual transmlssmn Are, the wmdows operated

Fill in the blanks with the appropriate forms of the verbs gwen |n brackets

You — — (surprise) to hear that I LR (get) the job, and so

(be). | . (interview) only ten days ago and |
(not think) that I ' (make) a very good impression.
May be the good references by my headmaster and Mr. Watal - :
(help). | (start) on the first of next month. The salary for the post
- (go) uplast month, So | — (pay) much more than |

thought. 10

Rewrite as directed :

Just keep quiet, — —__ (add a question tag) '

(Substitute the adverb form of the word, |tahc|zed)

She went for a walk. (Convert this sentence into'an lnterrogatwe sentence)

Itis very hot. (change into an exclamatory sentence)

- We saw trees that are laden WIth fruits. (change into a S|mple sentence)

- Being ill, he dtdn t attend the party (change |nto a compound sentence)

He asked, ‘Lisa, do you have any answer '? (change into tndlrect speech)

No other town in Malaysua is. as otd as Malacca. (change into the comparatlve

degree)
You have not yet reported to me. (change into the passive voice)
That black dog bit the poor beggar. (pick out the subject) 10
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VIII Write a prems of the following passage :

i produce more..

Today there are 3000 million people in the world. F;fty years ago only about 2000

people lived in it. If earth’s population were evenly distributed over its land

surface, there would be about 550 persons to the square mile. But earth has vast
areas of forest, mountains and desert which are almost totally inhabited. On the
other hand, it has great cities each with millions of people I|vmg in a few square

miles.

To feed the fast growmg populatlon of our earth scsenttsts and planners have to
discover new ways to produce more. One possible way is to bring more land

under cultivation. This can be only in places where there is lot of land not used

for productive purposes A second way is to make us of new.types of seeds to
10

(a) Construct a story from the followmg outlme

il bee - faiis into a tank — a dove fhes past drOps' a large leaf into the
~ water — the bee climbs on the leaf — flies away — a boy takes aims at the
dove — the bee stings — the dove is saved. : : ;

S i : QR‘
(b) Expand the following proverb.
" “The early bird catches the worm”. e =10

‘ Wnte a short paragraph on‘@ny one of the foilowmg

(1) Air pollutaon and children -

(2) What you dislike-most o .
~{(3) An unexpeoted piece of Iuck you had it v | ks, Sk 10
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